THE FIRST PRE-BOARD EXAMINATION 2015-16
Class X (ICSE)
COMPUTER APPLICATIONS (Theory)

Time: Two hours

Instructions:
L]

Maximum marks: 100

Answers (o this paper must be wrilten on the answer script provided separately.

* All subsections of each question are to be answered in the correct order.
* All working including rough work should be done on the same sheet as the rest of the answer.
* You will not be allowed to write during the first 15 minutes. The time is to be spent in
reading the question paper.
* Please do not write anything on the question paper except your name and roll number.
* The intended marks for questions or parts of questions are given in brackets [ ].
* Attempt all questions from Section A and any four questions from Section B.
SECTION A [40 marks]|
Attempt all questions from this Section.
Question 1
Answer the following questions:
(a) Define the terms Abstraction and Encapsulation. [2]
(b) What is meant by a package? Name any two already available Java application
programming interface packages. 2]
(¢) Name the Java keyword that:
(i) stores the address of the currently-calling object 74 [1]
(i) instantiates an objectinJava. (ord freuctrr 1]
(d) State the values of variables x and ch after the execution of the following statements:
char ¢ = *X"; 5w ¥
1 =] o . a
ntx=c-1; Lo B 1
char ch = (char) x; 2]
(e) What will be the value stored in variables x and y after executing the following
statements?
imntx=10, y=6;
X *=(y+t) - (y++) + (++y) 2]
Question 2
(a) Analyze the following program segment and determine how many times the
body of the loop will be executed (show the working):
int x =5, y = 50; e 1
. 2 )
while (x <= y) Jw :
{ i
y = yix; ig
} System.out.println(y); 30
i}k B
S . ' — j 3
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(b)  Differentiate between Binary Search and Lineas Search B 2]
(€) | Create a class ABC with two integer instance vanables. Initizlize the vanabies

using: -
(1)  default constructor (1) paww ; <)
(d) Write cormesponding Java expressions for the following mathematical
exXpressions;
3 ¥
. _JE R X . ' (2]
() =z - (1) yy
() Differentiate between call by value (or pass by value) and call by reference (or
pass by reference). 1<)
Question 3
Answer the following questions:
(a) Give the output of the following program snippet:
inti; |
for(i=1;i<=5; i++); '-/"z;_
System.out.print(i); D
System.out.printin(i); 55 (2]
(b) State the output of the following program segment.
Stri ‘-“PE ﬂa lt”;
int n = s length( ); Wﬁ
System.out.printin(s. startsWith(s substring (5, s <
System.out printin(s.charAt(s) = = s chara7y,, — FoAke )
(c) Smmcmummdmdﬂatypeofugfonwm- g Stri .
(i) indexOf() tring functions;
(i1) compareTof ), (1]
(d) State the difference between = = opers, (1]
£ examples of each, "‘dmli()medmmumh
(e) Explain the function of each of he iy (2]
Q) break be following:
&?}ww (1]
-  the output of the fo)lgy; ng
4 class m L (1]




@ Rewnite the following program segment usang termary operasor
if(*'yﬂ-M)m-lO.
clsetax = |5; 2
(h) wh-ilheumofuuu-;m*
class abe
{  public void main( )
{ charam[] ={'c’,'0".'m", *p'}:
for (mti=0;i<4;i++) > Apd <.
[ for(mtj=0;j<=ij+) L
{ Systemoutprma(™ ~+am[il) F ¥
}
System out printin{ );
}

, 2l

()  What will be the output when the following program segmest is executed?
nt sum = 0;
for(mta=1;a<=10;2++) _J— |V
{ sum=sum-~+a; Prapss -
if (a%2 == 1 | sum%5 != 0) continue;
System out pnintin(a + sum);
| l [2]
i () Wrnite the Java statement to:
(1)  create an object of the class employee using its nos-parametenzed
constructor. m
(i) declare prototype of a function IsBuzz( ) that receives an integer argument
and returns exther true or false. (]

41 X

8. SECTION B [60 marks]
~ Atemp: any four questions from this Section.
 program should be written using V-ﬂem

curs maximum -mofﬁnumdibphshﬁmy. [1s)




Question 5
Write a program in Java to accept an array containing employee code of 50 employees

of a company which are of alphanumeric type and are arranged in the ﬂscgnginsg order
of values. The program should then ask foranemployeccodf:tobe searched. Search
the entered employee code using binary search technique. Print the position of the code

in the array if it is present otherwise print an appropriate message. [15]
Question 6
v i : i int ei following patterns
Write a menu driven program in Java to print either of the following
depending on the user’s choice:
[ 8

(a) 1 (b) 01

14 0101

149 010101

14916 01010101 [15]

Question 7

Write a program in Java that encodes a word into Piglatin. To translate a word into a
Piglatin word, convert the word into uppercase and then place the first vowel of the
original word at the start of the new word along with the remaining letters of the

2 string. The alphabets present before the vowel being shifted towards the end followed

by “AY". Print the original word and the Piglatin word.

Example: Input : London

b, Ly Output: London

ONDONLAY

(15]



: accepts the name and the number of calls made

: computes total cost for a month (total cost = monthly

rental + call charges). Call charge is calculated on the
following basis:

Calls Rate per call
first 200 calls | free of cost

next 300 calls | 90 paise per call
next 200 calls | 50 paise per call
any further calls | 25 paise per call

+ displays all the information with proper messages

. creates an object of the class mobiCall and calls the
above functions to enable the task. [15]

ount (int num) with an integer argument that counts and prints the number
d digits present in the number.

:Gxnrhph:" If num = 13967 then the output should be 4. \
S tring ) wi i haracter argumen
unt (String str, char C) with a string argument ar{d a char ut
u\i‘;?t;gnd:pﬁnts’ the occurrence of character in variable C in the string str.
'33;% gmnple. If str = “Jm-_:.is-_ interesting”

then the output should be 3.



